goooo

23

g

goooo

y' +2y +10y =0
3y// + 4y/ _ 15y — 6—3:E
y" — 4y’ + 4y = 2sin 2z — cos 2z

7

222y — xy — 2y = 2522 logx
y" +1y=3cos’x

w3y + 322y’ — 3y =4

99



goooo 100

oo
(1) y"+2y' +10y=0 - D0000@03yY" +4y — 15y = e~ ...00000
0ooOoo r(z) = e
.0 (00D0)e3* 0000000
t2+2t+10=0
(t+1)2=-9 ooooo
b=—lEa 312 4 4t — 15 =0
ooo (3t —5)(t+3)=0
5
t==, -3
y = f(z) = e *(Cysin3z + Cy cos 3x) 3

-0 =-30100000
3y + 4y — 15y =0 0000
flz) = Cies + Che

3y’ +4y — 15y =e3* 0000 g(x) O
(000)ze® 0O0ODOOD

= Age™37
y = —3Aze 3 + Ae 3"
Yy’ = 9Aze 3 — 3Ae 3"
— 3A4e7%®
6—395 — 3y//+4y/_15y
= —14Ae73"
1
.. A — _
14
1
g(x) = —ﬁxef?’w

3y’ +4y — 15y =e3* 0000

1
Y= 016% + (02 - 141') e 37



goooo

(3) y" — 4y’ + 4y = 2sin 2x — cos 2x

-0oOobooo

r(x) = 2sin 2z — cos 2x

- 0 e (ksin2x +lcos2z) 000

ooooQ
2 —4t4+4=0
(t—2)2=0
L t=20000

-00+£200000000

y' —4y +4y=00000

flx) = (C1+ Cyx)e*®

Yy’ — 4y + 4y = 2sin2x —cos2z 0000 g(x)

0 % (Ksin2zx + Leos2x) 0000000

= Ksin2x + L cos2x
y = —2Lsin2x + 2K cos2z
y’ = —4Ksin2x — 4Lcos2x

DIsih 2o — cos 2x
,y/l _ 4yl + 4y
= &8Lsin2x — 8K cos2x

1
g(z) = 3 sin 2z + 7 8 2x

y" — 4y’ +4y = 2sin2x —cos2zx 00 0O

1 1
y = (C1 + Coz)e?® + 3 sin 2z + 7 ¢ 2x

101

@03 22%y" — zy’ — 2y = 2522 log x

-0Doobogobooo

z=¢e 000
2 —3y—2y = 25(e')?loget
= 25e%t
= 25te?
(100)eX 000
goooad

201000000
2jj—3y—2y=00000

f(t) = Cre 7t 4 Cye®
2§ — 3y — 2y =25tex* 0000
g)=(100) 0000000

y = e?' (At + Bt?) O

§ = 2e%' (At + Bt?) + ¢*(A + 2Bt)

ij = 4e?' (At + Bt?) + 2¢*' (A + 2Bt)
000000000 +2e%(A+ 2Bt) + ¢*(2B)

(25¢)e2t 26 — 3y — 2y

5e% (A + 2Bt) + 2¢*(2B)

(5A + 4B + 10Bt)e?

10B =25
5A+4B =0
B

2§ — 3y — 2y = 25te* 0000

5
y = Cre~ %t + <C’2 — 2t + 2t2> et



goooo

(5) y'+y=3cos?x

googo

- goooo

t2+1=0;
t=i

y'+y=00000

f(z) =Cisinz + Cycosx

goo

g(z) =

oood

Sin:c/cosx-30052wda:
—cosx/sinx-Scostdx
Sinz/3cos?’xd:c

—cosx/3c032xsinx dx

5{3005353 dzr O (t:sinx 00 D)

5[30082:csinx dr O (t:cosx o0 D)

/3(1 —sin?z) cos x dx
/ (3 — 3t2) dt

3t — 3

3sinx — sin® z

= /31&2 (—1)dt

_ —t3

3

= —COS™ X

goooo

3sin?z — sin* x + cost z

3sin? x + (cos® x + sin? z)
0000 - (cos?z — sin® z)
3sin® z + cos? z — sin® z

2sin® z + cos? x

sinz + 1

y =Cysinz+ Cycosz +sinz + 1

(6)0 23y” + 322y’ — 3zy = 4

z0O0O0

4
552:1// + 3my’ _ 3y _
T

r=e' 000

G+ 2y — 3y =4de !

102

- gbooboooog

r(t)=4e t0 (000)e OO

googo

w+2u—3=0
(u—1)(u+3)=0
cu=1, -3

-0 -1000000000

j+2)—3y=00000

@) =

Clet —+ C2673t

j+2y—3y=4e-t 0000

y = Aet

) = —Aet

j = Ae’?

et = §j+25-—3y
= —4Ae?

A = -1

g(t) = —e™

j+20—3y=4e~t 0000

y =

C’let + 02673t —et

23y +32% —32zy=40000

y =

I
Q
&
+
|
|
|



